2025%F4 HTH

) | 1 K5
= 2L N
20254EFF  ANEEHIHERS AR (RTHA) [F 3R] <20244£11A3H >
ZEREY 5PN -] SHEE ZERE &5BE &3
z2avg—F®| 385 [351]| 3,264 [3,139]| 2,992 [3,002]| 1,033 [1,229] 29 [2.4]
mesuEER®| 168 [237]| 1,260 [2,515]| 1,161 [2,409]| 503 [1,322]] 2.3 [1.8]
EEEEAR 159 [-1] 927 [-1| 820 [-1] 321 [-1 26 [-1]
zmimpEnmEz | 115 [-]] 1,531 [-111,426 [-1] 396 [-1] 36 [-]
TEHFEER
s SHI4, L ae | PE | wmmr | =mew | awse | meam | 08 | e
=] s )\,‘é\ PIARY/i =% et = [=] %{&)ﬁ TVEN SN
o 11/34-5i 95 89 45 2.0 144.5
A — R .
o 11/3%F%#% 24 74 169 67 196 34 7 2.0 2.0 131.5 225
e o EAAREEAEM|11/39] 9 64 | 64 [ 59 | 59 [ 39 [ 39 | 15| 1.5 ] 187.0 | 300
HARE AR FaEEeR  [11/37%] 9 52 | 52 [ 46 | 46 | 31 [ 31 [ 1.5 ] 1.5 | 1980 [ 300
et s 11/37F-Rif 38 34 13 2.6 168.0
Eg ﬁg/t I &FE 2% .
> BRIERA 11/3%F%#% 8 27 65 25 59 10 23 2.5 2.6 157.0 200
e 11/34-5i 60 57 28 2.0 154.0
A — N7 .
peo R 11/37F%#% 12 56 116 50 107 25 o3 2.0 2.0 135.0 225
) AR BRI 11/37FRIl 6 44 | 44 | 42 | 42 | 27 | 27 | 16 | 1.6 | 185.0 | 300
FaEEER  [11/37%] 6 34 | 31303 [ 18] 817 1.7 2120 ]300
e At 11/3%FHi 23 22 8 2.8 166.0
Eg ﬁﬁ/? I &FE 2% .
" > BRIERA 11/37F%#% 3 19 12 16 38 6 1 2.7 2.1 161.0 200
N 11/34-5i 33 29 19 1.5 130.0
A — N7 .
e el 18 o 0 a3 2 5] M s Y s 1
R/ m— VR | mAS AR BB [11/3F R 6 18] 18] 16| 16 ] 13 ] 13121 1.2 151.0 [300
HEEE LI FaEEAEEN  [11/37%] 6 14 141 10] 10 8 8 1.3 ] 1.3 ] 152.0 | 300
et e 11/3%FRif 292 18 13 1.4 150.0
FESME R E R T = .
PEBAM R ER VL 4 = 39 n 32 - 20 50 1.6 0.0 200
. 11/345i 64 62 40 1.6 134.5
2 — R )
BB —R VL 16 s 106 10 102 5 65 e 1.6 o 225
IR/ m— VLR | AR E U | 11/3FH| 6 36 | 36 [ 34 [ 34 [ 29 29 [ 1.2 1.2 ] 1410 ]300
ra—nyeatazr—vas B waEEEGRR | 11/30#%] 6 s 8] 16 16 121 1211371 1.37] 1640 [300
et e 11/3%FRif 492 41 21 2.0 157.0
FEAME R E R T = .
St rvev = IR e B e A e S o R e R
. 11/345i 198 174 38 4.6 164.0
A _ };lFI‘J- %) *
2R el 2 T Y e 2B ] P a5 ] MO [T 122
s e aaartEEA /3 ] 13 | 141 | 141 [ 126 ] 126 ] 30 | 30 | 4.2 | 4.2 | 2210 | 300
g EEas [11/3%] 13 [ 129 129 ] 108 ] 108 23 | 23 [ 47| 4.7 | 228.0 | 300
et e 11/3%FRif 97 90 15 6.0 170.0
sEAME R E R T = .
PEBAM R ER VL 10 5 182 = 168 n 29 =5 5.8 0.0 200
. 11/345i 128 116 30 3.9 157.5
A _ };lFI‘J- %) *
s R 11/3%F%#% 18 110 238 100 216 26 56 3.8 3.9 150.0 225
FREE Ef kB B 11/34R1] 9 84 | 84 | 73 73 | 22 22 |1 3.3 1 3.3 | 213.0 [ 300
FAEEERM [11/34%] 9 65 65 56 | 56 16 16 | 3.5 | 3.5 | 238.0 | 300
e L o e 11/3%-Hi 56 54 12 4.5 170.0
AR E A Y = .
Lo St ERIIEE 7l 8 e 1 19 s 1 12 0] 22 [as ] 40 a0 2%
= tE Ak e 11/3%Fgii 54 49 13 3.8 164.5
AN — R
B — R VL 8 s 96 T 86 n 23 W 3.7 70 225
) E kB B 11/34R1] 4 50 | 50 | 46 | 46 16 16 | 29| 29| 2140 | 300
A A EEER  |11/370%] 4 30 | 30 | 26 | 26 | 8 8 | 3.3 | 3.3 | 2280 | 300
e L Ao e 11/3%-Hi 26 23 5 4.6 171.0
ARSI E A Y = .
PEESM R ERI VL 2 53 49 50 43 T 9 =0 4.8 5.0 200
e 11/34FRi] 37 26 12 2.2 162.4
A — N7y .
B — R VL 30 53 65 50 46 5 21 55 2.2 GE 225
g 2R —RbER | ESar B ERA11/34800 10 26 | 26 [ 20 20 [ 13 13115 1.57] 211.8 [300
(R FaEERGER  [11/30%] 10 20 | 20 [ 14 ] 14 10 10141 1.47] 2434 ]300
e L o e 11/3%-7i 13 10 4 2.5 161.6
AR E A Y = .
PEES R ERI VL 7 5 22 - 17 3 7 53 2.4 Gr 200
e 11/34FRi] 25 22 11 2.0 141.0
A — N7y .
2 el 0 s 1 B ] P o] P e 2 e 1
fae - fatge - AR —y R | SR HEER11/35 w1 5 14 14 12 12 8 8 1.5 [ 1.5 | 180.0 | 300
AR— VR (FEHR LI FaEEREN  [11/37%] 5 13 ] 13 ] 12 12 7 7 1.7 ] 1.7] 2140 ]300
e Lt b e 11/3%-7i 8 8 3 2.7 174.0
AEAMA IpEEiES — .
BEEANE R ERI VL 3 = 14 = 14 5 5 =0 2.8 590 200
. 11/3%FRi 41 32 13 2.5 144.5
A — R .
e el 1 e P e ] 8 ] Y o] 2 s 1
o sas o mngy | B EAHEREA[11/3RT] 8 31 31 26 | 26 13 13 [ 2.0 2.0 ] 189.0 | 300
ATR— <R3 T ~
AR e %] 8 | 25 [ % 1 17 T 17 | 8 | 8 121 21 | 21a0 300
e L S b e 11/3%-7i 16 10 3 3.3 156.0
HEpdnt IR — .
BEEANE R ERI VL 6 B 28 5 19 > 6 =5 3.2 0 200




P25 PLTY =z, Sill (=} %% —f= =2 I\ AV A /\% GIN
S R4 = Bl H# B EREE SR (A) & (B) ZH#(A/B) FLAE EYy
s e 11/34FRi] 105 95 24 4.0 162.5
A — N
B K — KA VL 25 oo 197 5 179 5 45 o] 40 e 225
o e st EEA /3 11 [ ss [ 8 [ 75 [ 75 [ 291 29 [ 2.6 2.6 ] 2180 [ 300
TR R e mifs
R R S Eme  |[11/344%] 11 | 65 | 65 | 57 | 57 | 19 | 19 | 3.0 | 3.0 | 232.0 | 300
S 11/34FRi] 44 40 8 5.0 172.0
S é I Einll ~0 .
eI s 8 T ] ¥ 3ol O s 1 ' o] *° [Tieeo | 2%
s e 11/34FRi] 84 80 38 2.1 142.5
2 — N
N VL 19 1= 183 e 126 o 61 |5 2.1 s 225
H R wsatEEEA11/3% 10 [ 58 [ 58 [ 55 [ 55 [ 38 [ 38 [ 1.4 | 1.4 | 180.0 [ 300
TEWAT AT HIK gt s [11/397%] 10 [ 26 ] 26 [ 24 24 ] 15 15 [ 1.6 1.6 ] 2120 [300
. 11/37Ffi 41 38 16 2.4 161.0
ﬁ:u é I pinl ~0 .
N SERIET s 8 o] 2 201 %8 s 1 % 251 2 [Ts00 |20
s e 11/34FRii 25 22 11 2.0 137.5
A — N
2R el Mol M ] P o] 2 ol 20 s 1
ARl ey i s A mER 11/3 0] 4 21 | 21 [ 20 [ 20 | 15 [ 15 | 1.3 | 1.3 | 166.0 | 300
B AT A FaEELN  |11/37F#%] 4 15| 156 | 14 | 1410 ] 10 1.4] 1.47] 226.0 | 300
e o e e 11/37FHi 7 6 3 2.0 158.0
REANE 1| F R — .
SRRV g 2 1 U1 Y T2 0 O] Y8 Tisso 120
R 11/3%FHi 155 139 43 3.2 163.5
Z — N
7R el 2 T B8 e 1 2 361 72 521 %% [Tess 122
e wia At EEER /3] 12 99 [ 99 [ 87 [ 87 [ 321 32 1271 2771 2050 [300
L Vi
RORETH gt s [11/397%] 12 [ 89 ] 8 [ 76| 76 [ 27 [ 27 [ 2.8 1 2.8 1 2200 [ 300
ﬁﬁ%gmﬁ;ﬁuﬁwn/%f{” 10 991 po7 820 g B 1 o PALEp 1660 1o
R 11;3?& 58 51 12 4.3 163.0
o 11/3%F-7i 34 31 17 1.8 145.5
Z — N
e el 12 oo O as ] Y s ] % o] M Tss 1
et ot iR EER ] 11/37R0] 6 23 [ 23 [ 22T 221 15 ] 15 [ 1.5 1.5 ] 1930 [ 300
ER R e
RAGERH FaEEGN  |11/37F%] 6 21212 12 7 7 |17 1.7 2100 [300
e o e e 11/37FHi 15 13 6 2.2 149.0
REANE 1| FH R — .
SRR 2 T 0 s 1 B 71 P 2] 22 [0 120
R 11/3%FHi 54 54 15 3.6 146.0
Z — N
7R el 8 Tl P 2] P 2] % 551 %% [Tere 122
psE R i s A E mER [ 11/3 0] 3 46 | 46 | 46 | 46 | 17 | 17 [ 271 2.7 1 188.0 | 300
SAEEAM | 11/39%] 2 24 | 24 | 24 | 24 8 8 3.0 | 3.0 | 240.0 | 300
e L o A e 11/3%FHi 29 29 7 4.1 159.0
HEEANTY IyssEit] 7 .
s SERIIE T e 2 oo 1 P o1 2 5] Y Taa ] *P [Tieeo 12%°
o 11/3%F-7i 31 31 15 2.1 123.5
2z — R
R el 8 o % o] % Tz ] Y 2ol 20 e 1%
AR wf s A mEEAR11/3 0] 3 o1 | 21 [ 21 [ 21 [ 14 [ 14 [ 15[ 1.5 146.0 | 300
R SAEEAM | 11/39%] 2 11 11 11 11 6 6 1.8 | 1.8 | 218.0 | 300
e L o A e 11/3%FHi 16 16 6 2.7 157.0
HEEANTY IyssEit] 7 .
g el 2 T 1 B el s ] M 2a] 20 [Theeo 120
s 11/3%FHi 8 5 4 1.3 265.0
2z — R
IR re 11/37F1% 6 6 M 10T 8 s ' 20 1%%°
2 wf s A mEEAR /3] 2 3 3 1 1 1 1 1.0 | 1.0 | 391.0 [ 500
e SAEEAM | 11/39%] 2 5 5 4 4 3 3 1.3 ] 1.3 | 395.0 | 500
wpo—pem [WSTRL L 12 1o L 8 |y | 6 gy | L3 5| 1695 |
PR e _ 11/3%5 12 8 6 1.3 160.2
e AR EEA11/3F R 2 6 6 6 6 5 5 1.2 ] 1.2 199.0 | 300
RAEEEAN | 11/3F%] 1 6 6 5 5 5 5 1.0 [ 1.0 | 224.0 | 300
o 11/3%F-Hi 124 120 40 3.0 153.0
z — R
oK — R e 18 oo 222 [ 216 =1 71 e 30 ] 226
gy wiaAtEEER /3 10 [ st [ 81 ] 78 W8] 32 3224 247 18.0 [300
FaEEEA |11/37%] 4 65 | 65 | 63 | 63 | 23 | 23 [ 2.7 [ 2.7 | 2080 | 300
e 11/34F-Hi 65 62 15 4.1 158.0
RSN AR I L )
N X Tk 1) e 2 = 17 2 18 P 28 fsg] 40 g 200
o 11/34F-Hi 48 49 17 2.5 146.5
z — R
e el 2 e O s P ] Y0 25 20 [Tmes 1
PO wf AR e mEEA /3] 4 35 [ 35 [ 31 [ 31 [ 17 [ 17 [ 18] 1.8 1740 [ 300
RREMRAER FaEEEA |11/377%] 4 20 | 20 [ 17 | 17 8 8 | 21| 21 [ 188.0 | 300
e 11/34F-Hi 20 18 6 3.0 147.0
RSN AR I L )
SERIE T el T 1 2 201 2P e 1 Y sl *2 oo 120
e 11/3%F-Hij 24 18 9 2.0 147.5
z — R
2R el P e B M e ] P o] P [T 1
AR AR B 11/37FRIl 9 17 | 17 ] 11 11 7 7 1.6 | 1.6 | 197.0 | 300
B35 4t g Ik ISk !
REE BB SHAEEEGE  |11/374%] 9 5] 15] 10| 10| 6 6 | 1.7 | 1.7 | 216.0 | 300
e 11/34F-Hi 13 11 5 2.2 161.0
FESN R R e, )
S T ) e 6 = 18 5 14 - 6 55 23 ey 200
e 11/3%FHi 162 161 33 4.9 172.5
z — R
7R el 10 T 0 s 2 e ] %% a0l MY [Theas 12
3 S s atEEER /3] 4 [ 122 12212t [ 121 ] 30 [ 30 [ 4.0 4.0 ] 229.0 [ 300
" " FaEEEA |11/375%] 4 99 | 99 [ 98 | 98 | 22 [ 22 | 45 [ 4.5 | 246.0 | 300
e e 11/34F-Hi 83 83 15 5.5 179.0
FESN R R s )
s T ) e 4 = 168 | 158 [ 29 = 04 oo 200
e 11/3%FHi 203 200 57 3.5 158.5
z — R
7R el 2T T 2 01 2 a0 ] Y7 351 %° [Ts00 1%
_— n e wiba At EEER /3] 12 [ 135 [ 135 [ 133 [ 133 ] 41 [ 41 [ 3.2 ] 3.2 ] 2140 [ 300
' ' FaEaan 1134 %l 12 75 s 0] 70 2t 21 [ 331 3371 2340 [300
e L AT b e 11/3%-7i 107 105 26 4.0 168.0
P4 IpEEiES ~ .
BRSNS R L 10 =54 179 =2 175 =5 48 ] 4L ere] 200




